» MF-HT #E@RIIHE R~TE

Symbol & Size [60HT-S1.S2| 60HT-H [90HT-S1.S2 120HT-S1,S2| 120HT-H
DC1 6~14 6~14 14~19 16~24 16~24
DC2 50 50 70 70 110 110
DC3 70 70 90 90 145 145

C4 M5x0.8P | M5x0.8P | M6x1.0P | M6x1.0P | M8x1.25P | M8x1.25P
C5 33 33 39 39 65 65
C6 13 13 15 15 28.5 28.5
C7 7 7 7 / 20 20
C8 4 4 3 ) 7 7
DC9 80 80 120 161.4
JC10 60 60 92 92 122
DD1 13 13 18 18 22 22
D2 M4x0.7P 30 M5x0.8P 30 M8x1.25P 35
D3 12 30 14.5 30 22 35
DD4 20 20 28 28 35 35
62 62 88 88 108 108
/76 76 145 145
D7 M4x0.7P | M4x0.7P M8x1.25P | M8x1.25P
D8 2 2 2 2 2
D9 13 13 15 15 15
D10 70 70 126 126
D11 62 62 92 120 120
D12 25 25 40 50 50
D13 25 25 33 42 42
D14 22 37 42
D15 48 48 65 78 78
D16 70 102 120
H1 ) 6 6
H2 15 20.5 245
H3 2 3.5 8
H4 16 25 25
LO 101.5 101.5 141 141 198
L1 130 130 185.5 185.5 254
L2 146 146 213 213 287.2

1.C1~C10 BB EREERRR T RIKERARBEMNE, ANFBETHRUMRE 1515 -

Sune Wel



